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GENERAL AWARENESS (4) RFC domestic account 15 None of these
KD (5) None of these 9, Which of the following stafe-
1. Which of the following is a cor- B. A joint lability group and a self ments is not correct regarding
rect statement regarding non- help group has approached the Certificate of Deposit ?
convertible debentures (NCD)? bank to open a bank account: (1) itis a negotiable money mar-
(1} NCDis a debt instrument is- (1) banks can open non-interest ket instrument _
sued by a financial institu- bearing current account only (2) it is a usance promissory |
tion way of private place- (2). banks can open non-interest note |
S— bearing saving account only {9 it is issued only in physical |
(2) NCD is a debt instrument Is- (3] banks can openanormal sav- form and not in demat form |
sued by a corporate (includ- ing bank account {4) it is issued at a discouni lo |
E ing NBFCs) way of private {4) banks cannot open an ac- face value )
- placement. count (5) All are correct
| 13 NCD is debt instrument s- (5) None of these 10. Which of the following in not cor- |
' sued by a corporate (Includ- 8. In order to minimise the instanc- rect regarding transferability of
I :l:.i NEFCs) way of public is- es of frauds, the banks have Certificate of Deposits (CDs)?
| : been advised by REI to take (1) can be freely transferred any
- {4l NCD is an equity instrument which of the following actions time
i issued by a corporate (in- (A) have in place “staff rotation™ (2] CDs in physical format can-
cluding NBFCs) way of pri- policy {B) have in place policy for be transferred by endorse-
E vate placement. "mandatory leave” for staff (C) ment and delivery
{ [3) None of these internal auditors,/ concurrent au- (3) CDs indemat format can be
| 2. What Is the minimum and max- ditors must be specifically re- transferred il procedure
: mum maturity period in case of quired to examine the implemen- a_ppl:cable or demat securi-
| . non-convertible débentures ? tation of these policies (D) deci- ven _
! (1) mintmum 7 days and maxi- sions taken/transactions effect- 4] CDis not transferable being
{ mum12 months ed by officers and staff not ro- o :mwlrf}&ﬁlinstmmcnt-
i minim tated/availing leave as per poli- one of these
i. a mum 3um and maxi- -'.‘:.r: slfm:]d be subjmodﬁi .ﬁn 11. ‘iﬂmich of the fnilowéng statement
inim préhensive examination by the s not correct regarding commer-
w m“mlfnnxﬂ;“ MR internal auditors/inspectors/ cial paper ?
) : concurrent auditors. (1] it s anegotiabie money mar-
TR R A (1) Only (A). (B) and (C) ket instrument
| um 12 months 2) Only (B and (C) [2) it is & usance promissory
| (5] None of these (2) Only :
i (3] Only (A) and (C) nate
| 3. When a person resident in India (4] All of the above £ (8 it is issued only In physical
leaves India for Nepal or Bhutan *forrh and not in demat form
| fortaking up employment, or for (5) None of these {4) “ir'ig’issued at a discount to
|  carrying on business or voca- ! 7. Exposure ceiling in respect of a [ate Falue
! tion outside India or for any oth- single borrower in case of an in- (5) None of these
g er purpose indicating her / his frastructure company can be 12 As - ction 204) n-hn y—
| Stmyoamine Trifia S siame (1) maximum 15% of the net- gl et uininiolodiri
i . goods represented by
. tan period, her / his existing ac- mn.h ki the docurments create a right by
| tount should be designated asa - () maximum 15%of the capital virtue of either law or trade or
E Ascount. fund of the bank usage. to possess the goods rep-
{ (1) Continue to be a Resident (3) maxdmum 20% of the capital resented by the documents. The
account fund of the bank said goods represented by the
{2) Non-resident ordinary (4] minimum 25% of the capital documents are transferable by
(3] Resident foreign currency fund of thebank: ... and/or delivery of the doc-
account (5) None of these uments :
(4) RFC domestic account 8. Which of the [ollowing state- (1) Assignment
{5} None of these ments Is not correct In respect {2) Hypothecation )
4. When a person resident in India of exposure in the form of bllls {3 Pledge
leaves India for a country (other gtwteﬂ .;lnd"'r LA Mmuec Dy (4) Endorsement
than Nepal or Bhutan) for taking er ban (B) Mone of these
up employment, or for carrying (1} exposure will be taken as 13, A . though appears to be a
on business or vocation outside exposure towards the LC is- negotiable Instrument, is not a
Indla or for any other purpose mulnEnlcamnd ok the bog- negotiable one, but only quasi-
indicating her / his stay outside {n“w;'r unless the discount- negotlable, since the bona fide
India for an uncertain period, gls unde1_' FescTve transferee for value can be af-
her/his existing account should (2) exposure will be taken as fected by defects in the title of
be designatedasa____ Account. exposure towards the LC is- the transferor.
(1) Continue to be a Resident :rmb"ftgank and the borrow- (1) Document of Title to Goods
accourt (2] Cheque '

(2) Non-resident ordinary

(3) Resident foreign currency
account ;

(3) exposure will be taken as
exposure towards the bor-
rower

(4) All are correct

(3) Bill of Exchange
{4) Promissory Note
(5) None of these.




14. The mitation period for filing a

sult for sale of mpartgaged prop-
erty from the daté the martgags
debt becomes due is
(1] 1% years [Z] 30 years
1Y 3 vears 4] 5 years
15 Mo of these

18, Under the RS Act, 1934, 1t has

7.

the soke autharity to tssue oolns,

currency nofes of dencaninations

al

{1} Currency Modes of Ra 2 and
ke

14 Ome Fupes Mote

13 Cne Rupee Coin

|41 Filty Palaa Cain

I5) Mane of these

Banks are to ensure thatl while

preparing their Anmsal Branch

Expanslon Plan [ABEF). they

ahcnsld allocate at beast 28 par-

cent of the total nomber of

branches proposst (o be opened

mﬁ". year in un-banked ru-

al r-5 anel Tier B] centres.

For this purposs, the um-hanked

rural centre means ;

(1} a rural (Tier 5 snd Tier 6
penitre having popnalaticn be-
o 1000000 - -

[ a rural (Mer 5 and Tier &)
cenire having population be-
o 200 -

i3 & rural [Teer:& and Tier &)
centre that dees not have a
brick and morlar strsctre
o ey commercial
ank mmﬂ ased
Tesnking transactions.

4 & raral Ter & n.|1.|:| Tier 6]
centre thatl does not hawve
ek & EROTLAF SEMUCEURE
of amy bank or primary co-
pperative sockety.

= of Uhese

EBI decided that the total

inveslmmens by banks In lguid/

shorl term debl achemes (by
whatever naume called) ol malusal
funds with weighted average
maturity of protfolio of not more
than one year, will be subject to

a prudential cap of ___ of thelr

— aaon March 31 of the previ-

A YT

(1] 3%, metworth

[ %% capial fund

N 10% ot worth

[l 125 capital fund

6 Koo of these:

The process. of crstallisation af

export bills means, which of the

foiirering *

(1) retes of the expaort bills due
o e faiyemeer by thee drarer-

==
=] ".-h_h
delreny of poods without

18, Populer Bank with a view Lo e

pand iis business ks A =

cpened an accounl wih Og

wmm:]ﬂtﬂankur.ﬂuumuih

Asgtralian Dollars in Melbourse,

This account e Commanwealith
Bank will be knwon as

(1] MHOSTRO acoount

2 vOSTRO scoount

13 LORD acoount

[4)  Bdfirror scoownd

[E) Harse of 1hese

In the. Kissan Credit Card ae-

count of & farmer, the accouny

has shown credit balance, What
inleresd is o be pald for this®

(1] noinierest is payable as i is

an gverdrafi account

12) 0 inberest is payable as the

balance will be treaied as I
f current accounl

(% saving bk interest will be
pald. -

(4] FDirleres) as applicable o
ciFresponding malusiy shad
e pakl

15 Mone of these

I sk ol Uhe [ollowing clrowm-

slances, the banker-cusiomer

relationship will b= that of an

agent-prineipal 7

(1) payement of chegue fren ac:
cound of the cusbomer

2 collection of chegue for ihe
customer Far credil to his
socounil after callection

{4 for rentisyr gt o locker Lo the
£aislnmer

[a) mm:n:unlul’nraﬂE
custody.

(8] Mo ol theas

Which of the following loarn ac-

coaunt falls in the purview of base

rabe system ¥ -

11} DRI adwamoes

[} MSE advance

(¥ Loan to a staff member

4 Loamagainst deposit

5] Mo ol heae

In which of the following cases,

a letter of credit will be classl-

flad Mfﬁd.ﬂ]mhﬂ.ﬁ'ﬂftﬂ'

it? "

(1] where provision for op£ning
anciher LC is made on the
strength of criginal LC
whiere provision for transfer

o of the :';wnﬂ LC by benefi-
clary is made "
where sdon for i

e ing prﬂp'h.lﬂ::l'ﬂ:nt credil and
plarage n,l"gl:p:rﬂ.ﬂ in ware-
house is made )
whers lsbamn for p-'wld-

W Ing mﬂpm credit is
mnade

(5] Mone of these

24. 'Which of the folkmwing [eatures

of a derivatire is oot corect ?
(1] derreatives refer o & future

price :

i3] valee of derivatiye depends
upon the spot price

[ derreative 1s a financial in-
strusnent to matane o fulure

(4} ANl are correct
5] Mone al these

28, In an |sierest rate swap. the

shilting of basts of calculatian of

Imkerest can b

(1) from fixed rate to (oating
rate

(2 Croms fosting rabe o fxed sate

i from Ooating rate based on
ané benchmark toa Doating
rate based an another bench:
mark

{4 Amy cf the above

(51 Name of these

26, The floating rate & Unked 1o 2

benchmark rate. Which of the

foliowing statement. In thils re-

Bard s ot cormect 7

11} the benchmark rate s a risk
free inderest rabe determined
by the market

(2] the benclumark s acceplable
bath to the beorrower and the
lenider

13 for USD funds, the bench-
mark s noemnally LIBOR

4} I Indian rupes market, the
benchmark 18 the 81 dayn
treanury bills rabe onldy

7. Astording to a report hied

by the McKinssy Irwtiuts
o8 February 19, 2014 how many
Iidiama lack the means (B Mest
their essential nesdy ?

(1] &80 million

(2 660 milion

(¥ &7 midllion

[4] B85S millicn

Mone of thess

28, India on March 4, 2014 algned

agreements with the membar
countries of BIMSTES (Bay al

aperation) in May Pyl Taw, My-
AMTAF, On
11} Cultural

) All of Che above
15} Mone of thess

28, Which of the fallowing is nol oor-

rect reganding the Chegues Trun-

cation System [CTE] o India ¥

(1) 1t apeeds up fhe process of
oollection of cheques

2} It reduces the sCcope for
chegue clearing-related
fruuds

13) Truncation of cheques ls yet
Lo be legakized

14} 18 kowers the cost of collec-
tion of chiques

5 I reconciliatbon-re-

lated and logistks-related
peslern

B0, Select the cormect AlAlemenis

mbout the Delhl- Mumbal bndus-

trial Corridior Project. lunched by

‘the Uttar Pradesh Chiel Minksder

on March 2, 2004 :

[t) The 1483 km long DMIC
project will atant from Dadr
in LUtiar Pradesh

[ The cormidor will terminates at



. the Jawahas L&l Nefima Part,
Mummbal

(3 The corridor will pass through
12 diatriets of Uttar Pradesh

4 Al of the abave

[ Mo of these

IL. What is the Lability of the Bank-

&1 In Case of Wrongful Dishanor

of Chbgues?

(1] He 1a lahle 1o COMpensale
thie custorner for the loss sul-
fered by him

(2] He ls not Uable to eompen-
sate the cusbomer far the ks

(¥ He can transfer the matber 19
the Customer Grievance Re-
dressal Departmeni

4] Bath the customer and the
‘Bardosr have tosplit the com-
pensation in the ratio of
S0:50

[5] Mone ol these

22 Which of the following state-
meenks ks Mot cormecl regarding
the latest 2012- 13 Pakisian

Demographic and Health Sur-

wery (PDHS), released in Febru-

mry 20014 #

12 Fertibity has decresssd from
5.4 births per woman 1o 3.8
i the lask 23 years
Women who have a highér
educaticn have a feriility rate
al 2.5 while Tor Witerate wim-
& it s 4.4
{4) Thirty- Ove per cent ol wom:-
en wers magried a2l 18 and
54 per cent by the age og 20
5] Mene af these
13, Indian Od Corparation on Manch
7. 2004 signed a deal Lo buy &
10 percent stake in shale-gas
asscsis and a lnked lguefied
Aatiiral gas project in Britlsh Co-
hsmibda for
(1] & 850 millon
2 8 800 million
(3 B 920 millian
(4 & B70 million
(5 Mone of thise

4. Which ol the fellowing |s a Tully-

cravried] subsbdbary of the Resere

Bank of India?

1} Beserve Bank of Indla Stall
Callege

(2] instihute for Development and
Renearch in Banbdng Technol-
Oy

13} Indira Gandhl Institute for
Developiment Ressanch

[4) Deeposit Insurance and Cred-
i Guaranies Corporation of
Irctis

i5 Matlonal Institute for Bank

Management

B8, Who among the following was
wemrded o abar on the ioonic Hol-
hywood Witk of Fame o Los An-
geles in March 20147
{1} Kaie Winalet
(2] Scarletl Johansson
i3} Brittany Murphy
{4 Eelea Knightley
15 Mome of thess

38, Whi ammong the following 1a the
author of the ook tiled ‘India’s
Whaslim Spring ™
(1) Hasan Suroar
(# 5 Hussaln Zaldl
(3] Vesna FJacol

151 None ol theas

&T. Far which of the following Alms
Aglraithn Les and Fobln Mathews
won Uhe Best Makeup and Hatr-
styling Oscir on March 2, 20047
{11 The Lone Ranger
2] Jackass Presenis : Bad

Orandpa

13 Dallas Buyera Chub
i) 12 Years a Slawe
(5 Mane of these
38, Brandon McCullum ard Bradley-
John Watling of New Zaaland cre-
ated o slew of records in the sec-
ond Test agrinst Indla at Well-
ington on February 17, 2014 in-
ghiding
(1} MoCullum became the flrst
Hew Zealander to noteh up
doulbile eenturbes in bask-1o-
back Tests

()~ Wanlings 367-ball marathan
was the longest innings by a
Hew Zealand's wickelbeeper

13 MoCulham and Watllngs 352-
run partnership is the high-
eat for the akxth wickst in
Tests

(4] All of the above

5l Mone of thess

8. Which al the following teams won
the Santosh Trophy cn March 9,
D014 ki Sdligur
(1} Raftways (2] Mizarum
[ Services (4] Maharashira
[ Mone of these -

&0, According to the annual ranking
- by the Ecohcmist Intdlligence
Uit veleased on March 4, 2014

ks the most expensig
S the world while the lesat
ExpHETEivE Clty is
1), Karachd (2] Mumbal
(3 Hew Delht (4) Kathmandu
1M Mome al theas

GENERAL ENGLISH

Dérections (41-55] : Bead the (ol-
lowing passage carefully and answer
ihe questions given below i Certain
wards/phrazes have been printed in
bald 1o help vou lecate them while an-
swering some of the questions.

Eing Hutamasan felt he had e
enyihing s the workd not anly due to
his riches and his noble kndghts. bt
because of his beawitiul queen, Rand
Matsya. The ravs of the sun wers poal
i e with the indescent bight thar
Bataya Mlumingted, with her beansty
and braims. AL the right hand af the
g she was bnown 1o =it and add him
in all his judictal probes. You could
nol sscape her deep — sel eyl when
s commitied o crime as she always
knew the victim and the culprit. Her
penercaity preceded her reputation in
the kingdam and her hands were al-

ways [ull to give. People in the king:
dom revered her Because Il she
pass=d by, she abaays gave Lo Lhe
cranpassionate and poor.

Far anway (roan the kingly palace
lived & man named Rasman with only
ends ta his powerty and no means o
rectlfy i Haman was wreched with
poverty as b had lost all his land 1o
the tanclord. His age enabied him Lt
tle towards senual labour ared 80 beg:
ging was the only allemative to sal-
wage: his wife and children. Every
moening he wenl door to door for
same wark, faod or money. The Kind-
e of pecple abways ot kim enough
to take hosme. But Raman was a lide
peli-centered. His world began wilth
him first followed by his family and
the rest- S0 he would sat and drink
to his delight and return home with
whaléwer he lound exoess. This rou-
tines followed and he never let anyone
discover his Interests as he always
put an a long face when he reached
home,

O day as be was relkahing I‘J:IE
boawl of mice he had pust recefved From
a humbile home, he heard that Fand
Matsya was (o pass fram Lhe wery
place he was standing. Her generosl-
ty had reached his sars and hi knew
if e pulled a Im[fnﬂ: and showed
hiwr poar Tue wias, she would band han
a bag full of gold colns — ENGugh foe
thie rest af hifs lie, enough Lo bigy foed
and supplies for his family. He
thought he could Keep some poing
himsell and cnly reveal a few to b
wife; 80 he can [ullill bis swn wissy
8,

He ran to the chariot of the fasy
and begged her soldiens to allow Fums
Lo speak o the quesn, Lislening 1o
the arguments outside Rani Matsyg
opened the curlains of her charm
and asksd Faman what he wanoed
Farmam wenl on lils kiees and praised
the gueen. T have heard you are mos
penerous and most chaste, show U
beggar some charity. Ranl miarroses
her Bronas and asked Raoman Wikt ke
coneld g@hve et In returm. Surprised by
swch & gquestion. Raman ipoked & b
e full of Flee. With splte In him ke
Just picked wp a few gradns of noe
and gawe it to the queen, Rand bla-
syz counted e 5 grains and locksd
at his bowl fall of ree and said. you
shall be ghven what ks due to you. S
ing this the charlct galloped awasy

Raman abused her under hs
beeath. This he never theught woulc
happen. How consdd she ask hom S
saomething In Fetum when she I-.;'
given him anything 7 Irked with 2
ger he starmed home and gave S
wife the Bowl of rice. Just then ne
saw i sack ot the entrance. His =
sasd some men had come and kepe £
there. He opened it to find @ full @
rleoe, He put his hand inside amd
caught hold of a hard metal ook =
discower it was a gold codn. Elassdl
he uptured the sack to find 5 g
exing In exact for the fve rnce prams



31 wrtine bowl,
Eﬂ;mm ﬂml mm:rld have had &
sack full of gald.

41, According to the passage, which
of the lallowing is definltely tres
#bout Rant Matsya?

[A) She was beautihl
(B] She was intelligent
{C) She was kind.

(1) Crily (A l

(2} Cmly (5]

13 Gy (<]

(4} Cnly (A] and (B}

(5] All the three (4], (B} and {C)
42, What does the phrase ‘pulled a

long face’ as ussd in the passage

A 7

(1) Seratched e (o

(2} Looked wery sorrowiul

(3] Disguissd himsell

(4] Ful co makesp

5] Mon= af these
43 Whal can possibly be the maral

of the siony *

(1] Do onio olhers as you weuld

wenil Slkers T do 1o o

[Z] Fatienoe: is A virlue

(3] ‘Winming i1s mol everylhing. W

is the joumney that counts

4] Change |s the cnly constant

thing in life

[ Teamwork is more we and

=== ma
4, Wiy was begging the only option
for Raman iz get food #

(1] A= Faman belonged to a fam-

by of beggars -

2] As begging was the easleat

way for him 1o obiadn food
[3] As Raman’s family had fosced
e L g

14] Az e Bad st all his proper-
ty amnd was tod aold to do
Mrarneal wol

=1 Mome of these
45, Which of the following words can

b= vk Lo deseTibet PATMART

1A} Derettfil B Selish

P Tl

12) Cenly BN (2] Omby (B

30 Ddy () memell (B

4] Ondy B and IC]

5 ARl the theee (A), [B] and [T
45 Wihat ol Rawman find afier he re-
turned home from his. mesting
with Ram Mareya ?

(3] The Fands soldiery
EE As emmpty houese )
3 The Sve grasns of rice that he

B peem oo Rend Matsva,

B A sack Foll of rice and five

[ = St
B Noew o Cheme
Wit cmomoe dl Haman feel
When b thae the Rarn had
Er= bers e i coins 7
1 Sememmgre
2 Fegem O Hatred

N Soees = Tha
e W S Bamme & wihwn Ras

Mareen miee st sormerhung

in return for her charity 7
" [t} He gave her fve grains of Ace
el of his full bowl of rice

2] He gave her the five gold
coins that be had saved

. [® He handed over the entire
bowl of rice that he pos-
peassd _

[4] He ‘refused ioghee her amy.
thing as he was offended with
her request -

(5] Wone of thess

40, 'Why was Raman angry with Ranl

Mataya 7

{1] As she had not stepped de-
spile Raman's calling out o
Teer

{2 As she had insubied him iR
Tront ol hds Famsily

13 As she had'taken the rice
grains from Bm and had mol
Biven him amything ln retum

14} Mot mentioned In the passage

% Mame of these

B0, How did Eaman (séat his own

fagwily *

11} He gave his family plenty Lo
eal

% He saved whatevel food and
moreey ke got and handed (¢
ewer to his family.

(3] He koved his familiya kot and
ahways put their nteresis be-
Fore his

[4) He beat up his wile and chil-
dren oul af frustration

5] Mene of ihese

Directions (51~ 53] : Choose the

word,fgroup of wonds which (s mast
skmllar i meaning to the word/group
of words printed in Bbold as used in
the passape.

51. GALLOPFED
(L) hartled [Z] Stuambled
1% slumbered (4] Jumped
15) ram

52 REVERED

(1] remembered (2 feared
1) ialked aboul (4] embraced

(5] respecied

55 HAND
(1] &rm 12} throw
(3} ghve 4} timb
(5] lend

Drections (4 - 53) | Choose
the word/group of words which is
most opposite in meaning Lo the
word/ group of words printed In bold
as usad in the pasaage.

5d. REVEAL
(1] stap (2] conceal
(3 present (4] persding
=) tell

S8, ELATED .
(1] afraid (2] poor
I3 happy [4).depressed
(S grounded |, . o

5
Directions | 56 - 60) 8 Rear-
range the lallowing siv sqniemees (A,
(En. [CL (D). {E} and {Eldn-the proper
sequence 1o form & eeaslniul para-
graph then answer ie, questions giv-
en below tham.

(A Beenuse of the black and whie
rats the bfanch I dall on the
Eround very soon and the man woke
up with @ stan only to reallzs that it
wad & didam '

: (5 O clisbing. he boked down
and saw that the Bon was stll there
walting for ki

(5} Omire: & mas St that o oo
Was chasing him

10 Ome rat was bleck aod rhe
ather ooe was wihile

(B} The man ches baoksd = S
side where the branch he was semey
o was alldched fo the 19ee and sow
that teo rals wene cincking around g
cating the branch.

[F] Thir man ran ko a tree, clisrbed
on to it and sat on & branch,

B8, Which of the fallpwing should be
the THIRD sembence afier reae-

rangement?

A 2B
Ells 4l b
15l E

57, Which of the following should be
the FOURTH senience aller re-

Aarrangement 7

ne I
%D 4 E
S F

B8, Which ol the foflowing shanald be
the BECOND senience afier re-

arrangement #

ma (% B
Ac 4] O
151 F

B wm::h{-hhe:’nlh:rwlngahwmbe
the LAST (SINTH)] senience afl-

ter reamangement ?
i1 & A8 B
3o [4) E
B F

80, Which of the following should be
the FIRST scntence aller fear-

rang=meni ?

A (28
[ D
(3 E

DHrections [81- 85) : Which of
the phrases (1] (2}, (3] and (4] ghen
below each sentence should replace
the phrase printed fn beld in the sen-
tence o make | grammatically cor-
rect? I the senience bs carred] &8 It
Is given and No correctlon is re-
quired’. mark (3) as the answer,
8L In order to forgel his worries

Fahul take to smoke day and

night.

{1} took to smoke

12) taldng Lo ssncking

13 take 1o smoking

14) took o smoking

|5 Bio: cormecticn regilred
&2 Prerma was very please with he

gift she had recefved from her

beat [riend on her birthday

(1) was very ple- wd

(2] was very pReasing



& she was so soared on seting the

N lion that she shooked Hke a beafl
{1} shaked Hloe a leal
2} shiook ke a leal
[ shook like & leaves
4 shale like a leaf
{5 Mo correction required

Bd bema had the presence of mind
i get out of the way &8 the bus
sped out of control past her.

[1] present of mind

1) present mind

13 presence in mind

4] presence to mind

%) Mo correction requlned
88 Finally Suhas had gnther the

eourags (o speak againet his G-

ther's mirozizien. .

(1] gathering the coumge

(2] gathers courage

(3] gathered the courage

[4] gather the coursged

[m] Mo correction required

Direerlons [66=70] * In cach
fasealion below, o séenlence wilth four
worda pringed in beld type s gheen.
These are numbered as {1 1, {2, 14
and {4]. One af these four words
prinked i bald may be sther wrongly
wpelt or inappropriate in the contexd
af the sentente, Find oul Uhe word
which is wronghy spelt or inappropri-
ate, i any. The number of that word
is your answer, M all the words prind-
e in bald are correctly spelt and also
appropriate i the context of the sen-
temce,. mark (5] Le. ‘A correct’ as
VOAIF ARERET,

B The designer will showcash |1]/7
her eallastion [2)/al an Hpeem-
ing 3]/ fashlon |4)/ evenl In the
city. All coesect (5,

&F. Cur mird s Hke o garden |21/
which can either be intelligant-
I¥ 21/ cultivated (¥ ar be al-
lowed to run wilde, (41 All cor-
Tt 15 ’

B8, Ressarchers |L)/ have entifed
{2}/ the earty masier cells that
ik wp the human heart could
be used tlmake patehes (31 1o
fix dammaged hearts, (437 All cor-
il -

88, The gl speads (1)) every kalght
[2)/studying. as she wanis 1o
graduite [3)/ from a well known
callage with good marks. (4)/ All
cormect (5]

T0., The neoct time your gym instrsc:
por (1] tells vou 1o do some
siretching 1)/ exemlses (3] be-
foee the workest, say no.
[4) & All correct [5).

Mrectloas [T1-80) : In the ol
lowing passage there are blanks, each
of which has besn numbered. Thess
mumbers are printed below the pas-
sage and against each, five words ane
suggested, one of which s the blank
approprialely. Find out the appropri-
ate word In each case.

‘There was o man who had four
sons. He [F1] his sons to leamn not

1o Juclge things too quickly, 5o he sent

-

them each cn o [T in tum. to go and
leok at @ pear tree That was & greal
distance away. The first son went in
the winter. the secard In tha
thee Llsird in summer, and (he ]I'l-l'l-l-l'lg-
=5t 500 N audumn. When they had af)
gone and come back, be [F3) them
tagether to [T4] what they had sepn
The Niral son said that the res weg
ughy. bent, and twisted, The econg
son said. “Mal It was covered wigh
green buds and full of promise,” The
ihird som disagreed: he sabd B was lag-
en with blossoms that (T8 ao swesy
and boked so Beautihul. 8 was the
mast graceful thing he had [78) se=n,
The lasi son disagreed with all of
theme he sald it was ripe and I:h'-unp-
ing with frusl, full of e and Fulfill
meerl. T enan themn [TT] o his sans
that they all were rght, becases they
had cach seen but caly one [78] in
the trees ide. He tald them that you
L judie & ires, or & persoan, by anky
ane season. and that the [B0) of who
they are and the pleasure, joy, and
v thal oomvess from Uhal 1l can only
b measured al the end, when all the
SENSOMNS APE DVET,
TL (1 cveated () wanisd

1 placed [4] mnemnt

15 teach
T (1] quest (2] airplane
13 expediiion (4] pilgrimage
156l requested
T3 (1) follorwed @ Hed
() callsd 4} said
(5 bound
T4 (1) gl [ predsct
] rmalriain [4) describe
= talk
Ta. (1] was [ el
(3 colour [ smeled
15 exaked
T (1] worriedly (X)) mostly
3 ewer 4] farever
15] forcefully
A1 el Z leaked
{3 reprimanded [4) stood
i5] explained
TR (1 Neewer [Z season
3 ground (4] more
15 deal
T8 (1] Jet (2 not
13 e 4 ahould
IS cannot
80. (1} essence (2] danger
3 tree 4 lear
% journey
QUANTITATIVE APTITUDE

Directions (B1-85] @ Whar will
coeme in place of the question mark 7
im L [odlpewring questions. 7

8L 16 + J53 = 350
i1} 576 B &75
iy 26 4 R
15 Mipne of thess
BE. 1930 + 34 x 360 + 24 = 9
11 525 (2 765
|% 575 4 G
15 Mone of thess

B3, 4006 » 285 - 1236 - 7 = 4860
(1] 854 12) 848
(3 8% 4 875
1B Mone of [hese

|1 7udsl8x3

=7
8 il ube1a9

(1]

Bl | =

2|

1% 1]

15 None of these

B 28D » 12 xRB=?
11 1860 [H 1880
=TI 186
(5] Mone af these

B8, 1950 ¢+ B - 2527

L b
Lo =

[n 1z 2 a
[R5 4] 3
|5 Miome of these

B7. 13% ol 450 = 75% of 96 = 2
{1} 18 2 22
oz 16

[l Mone of these

BE. TE.75 - 4832 + BB = 7
(11 174.35 (2 175.34
(3 173.45 4 17a.as
(3 Nome of these

1 .2 a
B9, S—xd—+Tmd4d=
3 5 5

11 4
T —
o T T
- Fi
[ T [ L
N e W 8

15} Mone of these
PO 27,08 - 20 4T w 1.5 =?

I} 1E.85 1 19.25
[0 18.75 M) 19.4%
2] None of these

5 3
BL 3 al 315 = 7 of 458 =2

1) &7 2] agn
I 260 4] 340
150 Wone of thess
BE 140% of TAD = P al 250 = 123
L} 25 2] 50

i kH 40 « 4] 45

{5 Nome of thess
&
= Eufg d% of 2104 = 7
1] 53z 'Y 536
a3l 526 14 528
18] Mone of Chese
. 64552 <20 =7
i1 21348 12} 218.45
H ZI2BF W 218.25
=l Mone of thess
88, 2.25% of 540 - 1.5% of 480 = 7
{1 6.4 ‘2 5.8
i 4.3 *la 7.2
(5] Mone of theas
Directlons (86-100) : What wi
come in place of the question merk ™
in the following mismlier series 7
88 11 12 26 8] =
[ 324 21 28
[F F20 4] 280
(51 Nane of these



&3, She was 5o scared on seting the

5 Hon that she shooked Hice a leal
{1} shaked Hox a leal’

2} shook Bke a leal

[ shook Hke & leaves
4 shake like a leaf

[5] Mo correction required

Bd. Moona had the presence of misd
i get out aof the way &8 the bus
spad out of condrol past her.

[1] present of mdnd

{2 present mind

{3 presence In mind

4] presence to mind

5] Mo correction reqialned

88, Finally Suhas had gather the
oourags 1o speak againet kis fa-
ther's airocities, :

(1] gathering the cournge

(2] gathers courage

(3] gathered the courage

[4] gather the couraged

(Bl Mo corvection mequdred

Directions [BB=TO : In cach
asalion below, 3 séenlence with fowr
words printed in beld iype = given.

These are numbered as (1 1, {2), (3

and (4]. One of theae four sords

printed i bold may be either wrongly
wpelt or inappropriate in the contes
of the sentence, Find oul Uhe word
w}muwrmlhrspclnmmapprm-i-
ate, i any. The mumber af that word
is your answer, If all the words prind-

#d In bold are carrectly spelt and also

appropriate in (he contexl o (he s2n-

temce. mark (5] Le. *All correct’ as

NORIT AR,

umwmﬂmm 111F
her eallection [2)/al an upcom-
Ing (3], fashlon {4)/ event In the
city. All coevect (5,

&F. Our mind is ke a garden [1)/
which can either be inteligent-
I¥ 2]} cultiwvated |3/ ar be al-
lowed to run wilde, 41/ Al cor-
el 15) :

B8, Ressarchers 1)/ have Mentifled
{2}/ the early mastier cells that
msake up the human heart could
be used titmake patehes (3] te
fiv dasmaged hearts, |4)7 All cor-
il .

08, The gl speuds 1)/ every kalght
[2)fstudying, as ahe wanls 1o
praduste 137 rom a well known
callage with good marks. (4)¢ all
cormect (5]

T8, The next time your gym instrsc-
tor (117 tells yvou o do some
siretching [2)/ exerless (3)/ be-
fiore the workowt, say no
[4) F All correct (.
Mrectloas [71-80) : In the (ol

lowing passage there are blanks, each

of which has been numbered. Thess
numbers are printed below the pas-

&age and against each, five words are

suggested, one ol which fits the blank

appropriately. Find out the appropri-
ate ward I each case.

‘There was a man wha had four
sons. He [F]] his sons to learn not

o judge things too quidkly, So he sent

-

them each on a (73l in tum. to go and
leok it & pear tree that was & great
distance awny. The first son went in
Lthe winter. the second In tha
thee Llsird in surmmer. and (he mg_
=31 500 in awtumn. When they had a)
gone and come back, be [7) them
together to [T4) what they had seen,
The Nrad som said that the tres was
ugly. bent. and vatsied, The secong
man said. “Ral [ was coversd wigh
green buds and full of pronise,” The
iUhird som dissagreed: he said B was lag-
en with blossoms that [T75) so swesq
and kboled se Beautiful. 1t was the
mast graceful thing he had [78] seen,
The lasi san disagreed with all of
them: he sald it was mipe and I:h'\ul:up-
ing with frust, full of e and ruldill
el T enan then [T7] 1 his sans
that they all were rght, because they
had cach seen Dt Mhl'ﬂrlrﬂﬂ] in
the trees (e, He told them that yeu
(TR judge & t9ee, or & person, by anky
ane season. and that the (B0 of who
they are and the pleasure, oy, and
e thial comess from Uhal life can oaly
e measured at the end, when all the
SENBOMS ATE OVE,
7Y (1] eveated [F wamnsd

13 placed [4) mneant

15 teach
72 1] quest (2] atrplare
1] expedition (4 pilgimage
15 requested
T (1) folloeed [ ted
i called (4] said
(5 bound
T4 (1] ald [ predici
(] maleiain 14} describe
S alk
TE. (1] was (& feld
(] colour [ ameled
i coaked
T (1] worredly  1E) mostly
3 ever 4] farever
5] forcefully
77 (1] tell ® leaked
{3) reprimanded (4) stood
{51 explained
TE (1] Nower [Z] season
31 ground (4] more
5] deal
TE. (1] l=t 2 not
13 st 4 ahould
|5 canmot
80. (1) essence il danger
3 tres 4l fear
M joumey
QUANTITATIVE APTITUDE

Dhrections (B1-85] @ Whar will
come In place of the question mark 7
i i lodlrwring gueslions 7

8L 18 + J5 = 350
(1] 576 (5 676
N 26 | &
15 Mone of these
Ba. 1950 + 34 = 360 + 34 = F
11 625 B TS
(3 575 4 B4
1% Miome of thess

B3, 4066 » 285 - 1236 = 7 = 4860
(1] 854 {2 848
(31 825 4] 875
1B Mane of these

|1Tudsl8u3

=7
B AT wbe13m

(11 121

ik &=
Ll=  pa|=

1% (41

|5 None of these

BY A0+ 12xB=7
{1 1863 14 1880
(3] 1ES Hy 186h
(Gl Mene of these

B8, 1050 + M5 235 =7

1z (28
35 41 3
(B Mo of Lhese

&7, 18% al 450 = 7559 of 96 =
1 15 12) 22
oz 16
Al Mone of these

BE. TH.75 - 4832 + 1A6602 = 7
(1) 174.35 2] 17534
[ 173.45 [ 17335

% None of these

o, a%ﬁ%f?-ug
m ?H m T
i 'i"% i Ells;

15 None of these
B 2728 22 + 4T R [ 5=7

11 1E.85 [Z] 1525
[3 1B.75 [} 19.45%

] Mong of these

5 3
oL 3 al 315 + 7 of 456 = %

[hy &7 2] 3ed
|4 200 4] J40
153 Nome of thegs
L 140% of 7D « P9 ol 250 = 193]
I} 25 Z)
L] 14 40 < [4) 45

|5 Mome af (hse

& b 3
3. E"’EE DIE ol 2104 = 7

1] =3z 1% 536
3 526 I4) 528
18] Meae of (hese

M 16452 52 =20 =7
i1 21245 12} 21845
i3] 213.65 14} 218,25
3] Mone of thess
B8, 2.25% of G40 - 1.5% of 480 = 7
(1) 6.4 ‘12 5.6
= 4.3 a3 7.2
5] MNonoe of thess
Directlions [B6-100) : What =i
come in place of the question ek ™
in the following msmber serjes 7
BE. 11 12 26 g\ =
i 324 2 328
3 320 4] 280
(5] Mane of these



_butl sharter than M. F s taller
than cnly (3 while 5 is shorier
cinly than L. Which of Uhe folbow-
ing pairs represents thee tallesd
and the shoriest amang the fve
frienda 7
(1 m, P MmLo
e g
(4] Cannot he determined
&G Mone of these

123, In A certain code KITE = written
as ®EEE and STUR ks writien
s @557, How Is DESK wrilan

in that code
(1) B ] TEk
(3] W7 (4] 7Rl

5] Mone of Lhese
124, What shoubd come mexl in the

fodlowing series
bachacdbacdebacde
Tbacd

(e 4

e [T

= oE

125 Mitin correctly remembers that
medhi's birthday is helare Friday
while after Tugsday. Derel cor-
recily remembers Lthal Midhis
birthday 1= after Wednesday
whille Before Saturday. On which
of thie Bolleaing days does Kidhi's
birtheay definitely (alls®
(1] Monday 12) Tuesday
() Wedresclay 14 Thursday
5y Canel b deteronined

126, The fllowing growps of alphabes
form a cerladn paiiern with re-
gard 1o thelr position in English
Rlphabetical sevics. Based upon
thie patbern, which of the ol
img iz plErnatives shall replace
e puestion mark 7

®DEHL ) TIL RBMM T

i @or 12 PFF
13 ENO 13} QLM
|5 Wame of these

127. If each wowel of the ward
WEBPAGE = substiluled with
the nex letier of the English al-
phabetical s=ries. and each con-
sonanl & ssbstiiuted with the
letier preceding @l which of the
Tallowing leilers will appear

thrice 7
ity G 12 F
EIR 4 v

13 Mane of Lhese
128, How many ssgh palss of letters
are there In the word DCHCL-
MENTARY cach of which has as
many lellers Betwesn U in Che
waord a8 there are between them
in the Englisl, alphabeta ?
[1] Mone 3 O
[3 Twa 4] Three
3] More than three
How many menninglul fouwr be=t-
L& English words can be farmed
with the letiers TPSI using each
letter only anee in each word 2
L1 O 2] Twao
i3l Thiee 4] Four
1% weare than four
13 I the digit= of the number
25830514 are arranged in de-

2e

soending order, the position of
harer mnany digits will remain un-

changed 7
(1) O 12 Two
13 Thees {a} Femir
%] Mcne

Directions [131-138] 1 In each
af the questians below are given foug
stalements [allowed by four canclu-
gions numberad 1 1L 10 and [V, You
have 1o take the given siptements 1o
e Sruii v i LRy seem 10 be at vari-
ance [roe commonly known (acts.
Aead all the conclusioms and then de-
cide which of the given conclusions
legically follows from the ghven state-

_ ments disregarding commenly known
[aclLs,

131. Statements :
Some bals are loys.
Some toys are plastics.
Some plastics are mirmors.
N mirror is glass.
Coenelusbons
I. Soume toys are mirrors.
11. Some plastics are glasses,
110, Samw bats are mirmars.
IV. N glass is plastic.
11} Oy 1E follows
(21 Orily efthes 1 og [V fallows
(3 Onby efther Lar Il follows
41 Only either (1 or 1V foliows
51 Mone of these

1323, Btatements
All planets are stars.
All stars are astersids.
All astercdds are moon=
Siomi MOeNS e faCkS.
Conchmions =
I. Al asteroids are planets.
Bl All asidrolds are stars.
1L All moons are #1ars.
V. Some rochs are stars,
£1] Mome Folliows
2] Omiby | followers.
13} O 11 follows
14} Only either | or [ follows
15} Mene of these

133, Statements:
Some camerns are caloulators.
Some calculalers are diaries.
ATl noilebooks are diarkes.
All dearies ane coMpuILErs,
Centluslons !
. Some nob=besls are caléula-

fors.
11. Bome calulaiors ane commpaal-
T

11, Al notebooks: &re computers.
IV Some diaries are camerns.
111 None follows
(2] Oy 1 fallcws
|3 Oy 10 follaws
[4) Both 1 and [0l hllow
= Nooe of these

134, Saatesmenty
All gradazabes are acvocates,
Some advacales are judges.
AL jusgems ars ey
Somr WwveS BT dociors
Conli=masmt
| Seme dorwes v advocates
11 A~ pracoies g judges

f-'q

111, Some doctors are gradustes,

1V, Sorne lawyers are advocs gy

1) Mane= follows

121 Qrly 1 follows

(3 Qmly 1 lallows

[4] Eitheer U1 ar IV [ollows

@ Mone of thess
135, Seateaventn !

Al griakes are ﬂ.ﬂt‘&

Bome sagles are rabhbits.

All rabhilis are birds.

Same blrds are anlmals,

Conclusions :

1, Sameamimals are snakes,

1. Some birds are snakes,

11, Some birds are eagies

I%¥. All birds are rabbits.

11} Wone fllows

1Z) Cily 1 Tellsars

(3 Onaly 11 Foallows

4] Beoth i1 and il falkow

5] Mane of these

Directions [136=140) = Study the
falbowing infarmation carefully to an.
wwrer Unese queslions
FE RSTLUYandWaps

sitling arcund a circular tabde, facing
the centre. F sis third Lo the might af

Wmt.l‘llrlﬂlnlhtbﬂ.l;[ﬂ S sils

seoond o the right of T, V 2812 secand

to the beft of B. T is nat the negghbowue

ol § while U is nedther a neighbowr of

T noe W.

136, Which of the fellowing pairs has
poly ome person sitting beteesr
them, i the counting is dose i
clockwise direction ¥
MT.Y Y. 9
[ w. F 4] R, P
5l Mone of these

157, Four of the lallowing are altes =
& cerlain wiy bassd on their pe-
silions in e scaling arrangs-
rrewil Al s B S Eroiaps Whics;
is the one thay doss ol belong
Lo Ut @rowip

{1 W, T 2P
msQ 4 R F
1% P. g

138, Who sils second 1o the lefl of V7
(R 2P
13 U WT

5] Mene of these

138, Starting fram s position, d 20
the eight are amanged in alpha-
betlcal coder in clockwiss direc
1§00, the seating position of T
many members [excluding M
wauld not change ?

11} Mome 2} Ome=
13 Twa (4] Three
%) Fiowar

140, Wha sils between U and P 7
(s R
[ [LHEN]

= Mone af these

Drections (141=-148) : In =ach
ol these questions a group of letters =
given followsd by four combinations
of number / symbol numbersd (17 (2
anad (4], Letters are b be coded 2
per the scherme and condiions green
below. You have to find out the seral |
number of the conbination, which mg-
resenis the leller group. Serial o
beer of that coenbindiion (8 your s



If reomue of thee combinations i corredl.
your answer is (5] L.e. ‘Mone of these'

LetisdE [ O] B] &]u[F]L

g
o
L]
-
S
-

M If the first letter is a consonant
and the last a vowel, Bath are to
be coded as the code foF Dhe vow-
el

g I the fArst letier is a vowel and
he last is & conscanant, the codes
for the two are to be inter-
changed. .

[t I bath, the st and the last bet-
Lers &re CONGONANLS, both are o
b coded a5 &,

o] IF there are mose CThan Do e
els in the group of letters all vow-
els are 1o b coded as £

141. IQCPWF
(1] 9%E¥TE (2} GkEaTs
3] EwrEeTE (A} Bk EATY
(5] Mone of thease
142 KAWIPL
1] 237504 [ Gxrowd
(3 43TBNT 4] ZaT9ed
(5 Mome ol (hese
143, [KBOQFA
1] 92563 12) B235wE
3] 92d8ks 4 E25EEE
5] Mome of these
144, IITRAE i
[1) ESSTREE 2] $9aLas5
[RARE ok L 4] ERSREE
15 None of these
145, TCKAFE
1) @238 (2] DE2INE
, H SEZING 4] BEI3eE
1% None of these
Directions [146-1530) : Thess
guestions are bassd an the following
letter / number fsymibol arrangsment
Study It carefully and answeribe ques-
[T
ADGSECAERVWNEFIAPR
PHMEKZBE®RTHU
146, Based on the shdae prranpemernit,
851 Is related to NFA in the sams
an PO s rr.}a:udl-: which of the
Todlowing proups of leiter/ num-

ber/ayembal 7
i1} kBT (2] WA
3 M2 (4] M@

(5] Mone of (hese,
147. How many such consonants are
there in the above

each of which is immediately pre-
ceded by a number bt not Im-

stcEately iodlowed ‘by ancther

e
1] Mome [ Two
31 Four M Free
(5 Mone o Phese

148. Fourof the iollowing are alike in
a ceviain way based on their po-
sitons i e abower
amd so form & group. Which &
the o hal dots fol bedong Lo

that roup?
(11 AmF [Z] MED
N Tl 4] S4D
= ESE
140, How many such symbols are
there in the above Arrangement

each of which s immediately
preceded by & consonant and
also mmediately ollowed by a
namiber T

{1} Home §2) O
12 Two 14) Thres
Kone of these

150, Which af the following ks ey
in the middle of U 17th from
the right and 18th from the kdl
of the arrangement ¥ _,
11 A 21 m ¢
(3l F 14] s
(5 Mone of these :
Directions (151 -156] ; Read the

following passage carelully and an.-

swer the [ollowing questions gven

be=low il .

A group of rends hq-.-l.“g BEGER
members, A B T DL EF and G con.
pains four men and thiree ladiss. Each
ane of them has a dilferent profession-
stock-hroleer, lawyer. docton, proafes.
gar, enginee, businessman and Bank-
er and eath one has passed cuy af a
different college - F 5 W, W, X ¥
and Z nol necessarily in the same &r-
dlew, Mane of th ladies 15 a businggs-
man or o slockbroker. © s a doslor
and she has passed gt from College
. A s a 'Collsge V" pass ol B S ol
@ Prolessai. E a banker and s Col-
tepe & passed oul. F is a siockbroker
and has not studies in"College F'. Gois
1 hisinessman and has studied n Col-
lege W, The professor |s College T

sk, The lawyer has sLudied in
‘College F. None af the ladies bas stud-
sed in ‘College ¥ or ‘College 5.
151, Which ol the following combing
tions 15 correct 7
[1] B - Doclor - Female
(2] C - W = Male
¥ (3] A= Businessman - ¥
{4} [ - Professor - Make
|5 Mane off Uhese
162. Which al the foliowing grosips
represents ladies in the groug o
frieneds 7 )
il A& B.C ME F.OG
e CD 4] B, E. G
(8] Mone of these
153, Who among the fallowing is a by

T

yer 7
1] & 1% B
3 E 4] G
(8 Moo of thess
154. What bs the profession of 2
(1] Dastcr
2] Stock-broker
I3 Engineer
(4] Professar

5 Mone of these
156. Framwhich af the lallowing cod
leges has the slock-hroker

passed oul ¥
[y w @y
[ s X

5] Mone of these

Directions [156-160) : The sec-

and ligure ln the First wnil of the prob-
lemn [gures bears a certaln relatian-
ship 1o the firsi Agure. Similarly coe
of the figures in ihe anseer figures
bears (e same relatlonship Lo the
first figure in the second unil of the
problem Ngures. You are therefore o

incazed the figure which would fi1 in
e question mark.
155, Problem Figures

YIS
Answer Figures

SV[FYZ

{1 [ kY 151 %)
"157. Problem Figures

a] o\ :l'i‘ 9
MR

K| |9 7
Angwer Figures
CAEEAEAES

il [n]} 11 [E4] 151
156, Problem Figares

T S —~-'.}|

-
L - T I Y |
[+ A alE g -

Answer Figares

DIETRRE

T
COMPUTER ENOWLEDGE/
MARKETING APTITUDE

161, Marketing of aervices is known
as ___.
11} Tearssction
2} Door-to-daar marketing
A Relationship marketing,
2l Imbermal marketing
(5] &l of these
162, "Relerrals™ means
(1] Reference books”
[£] Leads provided by operation
atafl
(% Sakes persons
14 Front-oflice stall
15y
183, “Conversion” in sAles lanuage
means ___.

(1) coowerting a buyer into a s=ll-

Ly
2 mtl"&l a selley intoa buy-
e

(3 conwerting a prospect into a
elsenl

(4] All of thess

51 Mo off these



164, Bank marketing s same as .
(1] Transaction marketing
(2] Senvice markeiing
(3] Imdear marketing
4] Al of thess
(5] Hone of these
186 Leads can be provided by
1] Friends and relatives
2 Websltes (3] Direciosies
4} Colleagues 5] All of these
1868, Ome ol the following s net & sales
activity. Find the same.
(1) identifying beads
[Z] Making a call
(@] Presentation
4] Negotmtion
15 Aler-sakes service
167, Selling ks a function underiaken
W
(11 All the sales persons
2] &l the emplivees
(3] Enlire crganisation
(4] Onstsournced Agencies
i Al of these
1688, Find the comect statement=—
{1} Selling s same as marketing
14 sgun!humﬂunm-

g
(3] Selllng ls part of marketing
&) Al of thess
15} Nene ol thess
168, “Making a Call* means
1} Calli 1g-0n & prospeciive cus
tormer B
(2 Explaining product deLails
|3 Megotiabing 3 cleal
[4] Arguingwith & customer
(51 Al off these
170, “Relatlonship” is markeling
ians ;
1] Relation between salesgsrusan
2] Relation between buyer and
seller .
|% Relatkon between company
and oomnsuTeT
(4 Al of these
5 Mone of Uhess
171 Markeling is a lunclion under
taken by .
1] All DSA's
12} Adb Fromi-oilioe siall
13 Whole arganisaticn
|4) Al ol theas
81 Mone of these
172 Mon-product &Elling menas
{11 #lling variety af products
2] melling caly one product
13 selling seasenal products
4} selling services
(5 AN of these
173, A wislon statemends is ____
(1] nol requirsd for establisked
CrETianies
2] meot required due 1o compets-
1.“ -
|3 ot pequired as g one un-
derstands thém
[4) & bong termm [naplration
Harie of Thess
174, Effective Bank Marketing re-
q'I.TI.I.'EE "
1] proper pricing
12} cusiomized products
1% simple procedures
4] marked reasanch
(51 All of these
178, Direct Marketing means ___
(1] Fae-to-face markeling
12 Melas |3 Seminars

(4] Indoor markeiing
5] Online marketing
178. Indirect Marketing means -

{1} Mariceting by non-sales per-
SOMNS

12 Markeet Survey
|5 Market Ressarch
(4§ Advertisemenis
(5] All af these
177, Markeiing is = Find the wrong

oplion - i
1] an ancient concepl !

a evantinuous alfair
[4] & team eMosy
15) & direct need for survival
17E Customer's Relatonshipwith the
fank is nfluenced by ___
(1] Cuslomers’ atifludes
2] Artitisdes of Bank stall
13 Interest rates af the Bank
) Attitudes of sales peraonsa
1% All ol these
178, Marketing is best sulted in .
1§} Baspés's market
1% Sellers’ markel
(% Intermal marketing
4) Direct marketing
&) -Mone of thess
180, Delivery channeks other than
Bank counbers are ____. .
1] AT
121 Inberme Banking
14 Mobdle Banking
|4} Tele banking
15} Al al these
181, To aocess properties of an ob-
Ject, the pnouse technlgues to use
Is
[1h dragging
(2 droppéng
13 right - clicking
() ahifl- chicking
(%] Mone af these
182 A [n] Is & program that
imakes the computer easier iouse,
1] Operating system
{21 Application
13 Lhility 4] Hetwork
15 Mans of these
183, Connections o the Internet ws-
ing a phone line and a modem
arg called ______ connections.
(1) Engtal [2] Dial- wp
(% Breadband  (4) Dish
5 Ondy Zand 3
184, To acoess & malnframe or super
computer, users oflen use A —
111 Terminal 12} Node
13 Desktop
il Hardheld
|5l Mone of these
185, & Maw in A program that causes
it to produce indorrect or in ap-
propriate results is called a__
1L Bug
1) Byvie
[ Attribute
[4] Unit problem
(5] Mone of these
188, A Web site address i8 A wnigee
mame that Identilles a specific
___ an the Web.
1} ‘:'.'-t'b brewser
15 POA
I ek aire

%:mﬂdﬁm nesd

i LEInk
15} Mone al these
18T. Every component of your cdmput -
er is either —
1) hasdware ar softwares
(%) software or CPU Y/ RAM
I3 agplicatlon soltware or system
softeare
4] inpul devices ar autput devic-
25
(5] MNone of thess
188, To make the number pad act as
directional arrows, Vo press the
ey,
(1] numi leck (2 CEpS lock
13 arrow lock (4] shifit
% Mone aof these g
188, When crealing a wond-processed
dacument, this step imeolves the
user changing how wiarda an the
page appear, both on Lhe screen
and in printed form,
|1} Ecliting text
|Z] Inserting tables and indexes
1% Farmating tékt
|4] Proofing documents
%) Print Preview "
180 The perlafms simple
mathematics for the CPUL
(1] ALLF [E] Db
(3 Bus (4] Regisier
5] Mone of thess
151 Reusable oplical storage will typ-
beally have the acronym —
(1eb  [IRW
(3] DVD () RO
5] Mone of these
183, la processed by the com.
puter into information.
11 nuarmilers |2) processor
13 inguat {4} data
|5 Mone of these
183, Persanal compubers can be cans
nected together 1o form & —
(1) server
[Z] super computer
(3 enterprise
(4] network

5] Mone of thess
184 A word in a web page that, when

clicked. opens anolher docvimes),
s called —

. 1} archor
121 '|1.:||'-|:u,'.rllul1k
|5 peferenss
[4] URL
5] Mane of these
195 The al software cantains
Hsls of cammands and cptioos.
§11 ke boar
§2) meenni biar
13 formula bar
4] ool ar
1% Wane af these
188, The zoltware toala thal ernalble a
ussr Lo Interact with a compin.-
er far specific purposes Are
KR as___

[1} Hardware

(2} Merwarked Sefraare
(3 Sharcware

4l Application




197

(5§ Mane of  Lhess

Which af the [ollowing i ral 2
function of the controd unit?

[1} Read ingtruclions

M Execule Instructions

(] inerpret Instrsctans

(4] direel operstion

L[5} None of thess

=SUMIBL:B2] Is an exmple of
.'—l

(1] Funciion

2] Formla

{3 Cell mddress

141 Valhue

5 Mo of these

109, Holding the mowse battan doam

wriiilie moving an chject or texl
B Emow ds—-

1) Mboirn@

) Dragging

|5 Dropping

{41 Haghlsghting.

5 Mo of thess
A.__Inml.h:rr.lmurd.-uﬂui
i stceed electronically 85 & se-
s of records in a table.

(1) Bpreacdshest.

¥ Presentation

[ Database

4] Webpage

|5 Mane of these
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= EXPLANATIONS B

1. (2} NCD is a debt instrument is-

* sued by a corpordte (including
NBFCs] way of private place-
ment.

2. (3) minimum 90 days and maxi-

muml2 months

(1)} Continue to be a Resident ac-

count

(2) Mon-resident ordinary

(3) banks can open a normal sav-

ing bank account

(4] All of the above

7. [3] maximum 20% of the capital
fund of the bank

8. (1) exposure will be taken as ex-
posure towards the LC issuing
bank and not the borrower un-
less the discounting is under

@

oo

o

resgen'e R "
8. (3) it is issued only In physical
form and not # demat form

10. {4) CD is not transferable being
a market instrument.

11. (3) it is issued only in physical
form and not in demat form

12. [4) Endorsement

13, (1) Document of Title to Goods

14. (1) 12 years

15. (1) Currency Notes of Rs. 2

and .?im'e

16. (3} a rural [Tier 5 and Tier 6)
centre that does not have a
brick and mortar structure of
any scheduled commercial bank
for customer based banking
transactions.

17. (3) 10% net worth

18. (3} conversion of the foreign cur-
rency lability into the home cur-
rency liability by selling the FC
back to the exporier

19. (2] VOSTRO account

(3) saving bank interest will be

paid,

21. (2} collection of chegue for the
customer for credit to his ac-
count after collection

22. (2) MSE advance

23. (4) where provision for provid-
ing preshipment credit is made

24. (4] All are correct

25. [4) Any of the above

26. (4} In Indian rupee market. the
benchmark is the 91 days trea-

SR T | R —_— )

8

29, (3) Truncation is the process of
stopping the llow of the physi-
cal cheque issued by a drawer
at some point with the present-
ing bank en-route to the drawee
bank branch. With amend-
ments in the Sections 6 and
1(4). coupled with the introduc-
tion of 81 A to the Negotiable
Instrumenis Act, 18581, trunca-
tion of cheques is now legalized.

31. (1) A Banker has the statutory
obligation to honour his
customer's cheques unless
there are valid reasons for re-
fusing payment of the same. In
case he dishonours the cheque,
he is liable to compensale the
customer for the loss suffered
by him. According to section 31
of the Negotiable Instrument
Acl, 1981, the banker is liable
to compensate the drawer for
any loss or damage caused by
the default on his parl in
dishonouring the chegques with-
oul suflicient reason.

34. (4) There are two fully-owned
subsidiaries of the Reserve
Bank of India: Deposit Insur-
ance and Credit Guarantee Cor-
poration of India {(DICGC) ,
Bharatiya Reserve Bank Nole
Mudran Frivate Limited
(BRBNMPL). College of Agricul-
tural Banking and Reserve
Bank of India Staff College are
part of the Reserve Bank. Oth-
ers are autonomous, such as.
National Institute for Bank Man-
agement, Indira Gandhi Insti-
tute for Development Research
(IGIDR), Institute for Develop-
ment and Research in Banking
Technology (IDRBT).

41. (5) All the three (4], (B} and (C)

42. [2) Looked very sorrowful

43, (1) Do onto others as vou would
want others to do to you

44, (4} As he had lost all his prop-
erty and was too old to do man-
ual work

45. (3) Only (A) and (B}

48. [4) A sack full of rice and five
gold coins

47. (2] Regret

48. (1) He gave her five grains of
rice out of his full bowl of rice




49,

50,
51.

depressed are antonymous.

[3) As she had taken the rice | 56. (2) B 57. 4 £ B8. (1) 7 = 75.15 - 4832 « 140 ag"
grains from him and had not giv- B8, 5] F 59, (11A = 174.35
én him an:.rlj'ung in retum 60. [3], C a5 22 .
(51 Nonie of these | 61. (4) Here, took to smoking (Ger- | 89. 1] = “
5] The meaning of the word und) should be used. )
Gallop (Verb) as used in the | g2, (1) Here, was very pleased (Ad- 110, 222
passage is : to run very quick- jective) should be used. =3 77§
ly. when a horse gallops, it 63. (2) The word shook is past {V,)
moves very fast and each stride form of shake. Hence, shook . 1;3.2 1 1::- 666 - 550
includes a stage when all four like a leaf should be used. skl =
feet are off the ground togeth- 64 i
: . |5} No correction required . .
3 g 116 _ 11
ers boride & horse very. Fast 65. (3) The structure bf the sentence 15 -
Look at the m_mtmc : in Past Perfect is : 1
He galloped his horse home. Subject + had +-V, [Past Parti- _ 27.28
Hence, the words galloped and ciple) ! 90, (4] ? = =5y +4 T x| =
AR AT EYTIOMYTIONE. 66. (1) The correct spelling is : | B -
P 124 + 7.05 = 19.45
. [58) The meaning of the word Re- showcase. Hebii = S
vere (Verb) as used in the pas- | g7 (43 The correct spelling is : ,_ 3155 455x3
sage Is : to feel great respect or wild. 9. () ?= —— "=
;?m : -.gﬁnuzim somebody/Same: | es. (5) All correct =175 + 185 = 370
& ‘ 69. (2} The appropriate word should o
Hence, the words revered and i night. ; i {3] E.I_H_] _1_... ) _.J_?)r.:l_'_“'" .
respected are synonymous. 70. (3) The correct spelling is : ex- 100 100
. [3) The meaning of the word b . )
. SxY i
Hand ['lﬂb‘] as used in the pas- 71, 2) siinited 72. (1) quest = 1131 + ; - = 1231
sage Is : 10 pass or BIVE SOME™ | ;g o) called 74 (4] describe -
thing to somebody. . g s
Look at the sentence : 75. (4) Emufed 76. (3] ever = '--%- = 1231 - §131 =
He handed the letter to Sita. . {E'f explained o
Hence, the words hand and give | 79 (7' season o looxz
are s}rlmn:'mﬂusl ?91- [5] CﬂIle E ¢ m == '_,-_J - LA
. [2) The meaning of the word Re- | 80. (1] essenge L
veal [Verb) as used in the pas- 81. (2) 324 + /7 = 350 oa. [3}?:2104;&59\-_{'*?
sage is : to make something z 5 3 &8
known to somebody; disclose. = 7 =350-324 =26 = 536 ‘
Look at the sentence : P e 36 x 26 = 676 B4 (M 7=1645x52x25
Details of the murder were re- P = 213.85
vealed by the local paper. 82. (5) 7 = — * _&75 1 . e
The word Comceal (Verb) 34x24 9. (4] 7 = om0 AT
means : to hide somebody/ 83. (5) 4015 + 7 = 4860 100 L0
something. = 7 = 4860 - 4015 = 845 =1440-720="72
Look at the sentence ! ) 68 + 54 122 96. (2) The pattern of the number
The paintings were concealed 84. (2 ?= 37 57130 24a series is :
beneath a thick layer of plaster. 11x1+1=12
Hence, the words reveal and 1 12%x2+2=26
conceal are antonymmous. =3 26 %3+ 3 =8l
(4] The meaning of the word ETT|
Elate (Verb) asused inthe pas- | o oo 2820 g _1ag0 51 % A sk {000
sage is : to be very happy and 97. (5 The pattern of the number
excited because of something series is :
good that has happened or will | gg (4) 7= === 5120 = 4 = 1280
m]mpcpwm' d de  means : | 1280 + 4 = 320
' 450x18 96x75 a0 = 4 = 80
very sad and without hope. 87. 61 ?= 50 100 S
Hence, the words elated and 24 = |20
_s1-72-0 80+ 4= [20]



98. (4) The pattern of the number
series is :
7+22 =11
1t + 42 =27
27 + 62 = 63

63 + 8% =

99. (3) The pattern of the number
series is :

6+22=10
10+2%=18
184 2% = 34

34 + 25 = [66]

(1) The pattern of the number
series is :

S+6=11

11+12=23

23 + 24 = 47

47 + 48 = [95]

101 (3 HA=x. thenE=x+ 8
LX+X+8B=2x46
= 2x+ 8 =02
= 2x=92-8=2584
soxm 42
~ The largest number =E
=x+B8=42+8=50

102, (1) Speed of the train = 66
kmph

66x5

‘[ 18 ]““"-“’"“‘:

100.

55
= _'ET metre fsec.
. Length of train = Speed x
time taken in crossing the pole

. %xm = 330 metre
103. (5] Required average
_ 155+ 128 +137 +140 + 160 + 132
B 6

= §-5-2—=142

6
104, (3) Let the number be 10x + y.

xX+y=96 -
-[i) ’
and, 10x+ y- 10y-x= 18
= 0x-9y =18
=x-y=2

i)

From equations (i} and (ii),
xadand y=2

. Required number = 42

105. (1) Interest
= Rs. (77400 - 45000)

Rs. 32400

Interest x 100

- Rate = Principal x Time

32400 = 100
45000 x 8
= 9% per annum
106. (2) Il the number be x, then

3x 40xx

5 100

85

qu:as

= x= 83 x5 =425
-~ B60% of 425

425 x 60
= o0 - 255
(5) Total expenditure percentage
= (12 + 18 + 50)% = B0%
- Savings percentage = 20
If Rajesh’'s mpnthly income be
Rs. x, then

20
xxﬁ—ﬁﬁﬂﬂ

107

= x = Rs. (5200 x 5)
= Rs. 26000
108. (2} M, D, =M, D,
= 24 x-15 = 18 x D,
24x15
=5 [:l2 = ""“—18
109. (4) Ratio of shares
= 40000 : 75000 = & . 15
. Rasika's share

= 20 days

B
= — % 46000
ks 5 % 46000)

= Rs. 16000
110. (3) Let the present ages of Rama
and Shyama be 4x and Sx years
respectively.
4x+5 5
"5x+5 6
= 25x+ 25 = 24x + 30
=x=30-25=5
- Rama's present age =4 x 5
= 20 years

= 25000

= 25000 [

)
625
[25mox 159
= Rs. 625 )
= Rs. 6360
112. (5) If the cost of 1 calculator
and that of 1 walch be Rs. x and
Rs. y respectively, then
10x + 12y = 11000

Multiplving both sides by 3, we
have

30x + 36y = 3 = 11000
= Rs. 33000

113. (1) Cost price of the TV set

100
o ——— 5P
= 100 + profit% R

100
=  t—— = 16756
B [ns“ ® J

Rs. 14200

0 38
=% =yx g

5
114. (4) x = 100

B

115. (5) g e

._.
ot
W
0|
W

116. (1) Average number of employ-
ees working in Marketing de-
partment



150+ 90+ 115+ 200+ 190
- 5

745 149
] 5 = L

.17, (2] Total number of employees
working in all the departments

of organization B together
=80+ 75+90+ 110+ 120
= 37TH

|18. (3) Required ratio
= (75 + 90) : (220 + 200)
= 165:420=11:28

L19. i5) Required ratio

= (145 + 80 + 120 + 180 +
160) :
(180 + 120 + 130 + 110 + 130)
=685 :670=137: 134

120. [2) Total number of employees in

organization C
= (120 + 100 + 115 + 160 +
130)
= 625
Required percentage
= B =100 =256
625
121.(1) P N
Q W E
] 5
 —

1222 L>5S>M>N=>P=>0Q
123. 4 K'Il T E
111l
% 2 8 #
Therefore,
DESK
A A
T # @ %
124.(3) bac. bacd, bacde, bacdef,
bacd
125. (4) According to Nitin, Nidhi's
birthday may be on Wednesday
or Thursday.
fccording to Derek, Nidhi's
birthday may be on Thursday or
Friday.
Common day = Thursday.

—2yy =237 _=24R=23p
126.12 XJA —3—)J—t-"—m—ﬂ+P
j—t2y g2y 414y +25p

& o
o=
oo C
-~

127.121 W
1
v

128. (3}

o - m
-
‘0 v
W~
0
I o m

-,

1

=57
men

5
)

[
zvh
]
=]
—
L# 5]
k2
on

E
A
-

4153 2
DOC U
129, (3] Meaningful words
= SPIT, TIPS, PITS
130.(5/2 6 8 3 9 5
9 86 5 4 3
(131 - 135) :
() All planets are siars — Univer-
sal Affirmative (A-type).
(i) Some bats are toys — Particular
Affirmative (I-type).
(iii) Mo mirror is glass — Universal
Negative (E-type).
(iv) Some mirrors are not glass —
Particular Negative [O-type).
131. (2)

1 4
21

Some plastics are mirrors,

No mirror is glass.

| + E = O-type of Conclusion

“Some plastics are not glasses.”
Conclusions 11 and IV form Com-
plementary Pair. Therefore, ei-
ther Conclusion II or IV follows.

L4

All planets-are stars.

All stars are asteroids.
A + A = A-type of Conclusion
“All planets 2re asteroids.”

All stars are asteroids.

All asteroids are moons.

A+ A = A-type of Conclusion
“All stars are moons.”

133. (4) All notebooks are diaries.

All diaries are computers.

A+ A = A-type ol Conclusion
“All notebooks are computers.”
This is Conclusion 1.

Some calculators are d]ﬂﬁt;, '

All diaries are computers,

I + A = I-type of Conclusion.
“Some Eﬂlﬂulﬂtﬂm are C‘-'H'“PI-II-

£rs.
This is Conclusion 1.
134. (5)

Some advocates are judges.

All judges are lawyers.

I+ A= I-type of Conclusion
“Some advocates are lawyers”,
Conclusion IV is the Converse of
this Conclusion.

135. (3)
Some eagles are rabbits.

All rabbits are birds.

1 + A = I-type of Conclusion
"Some eagles are birds"™.
Conclusion 1l is the Converse of
this Conclusion

(136 -- 140) : Sitting Arrangement

136. (5) None

137. (5) W is second to left of T.
P is second to left of U.
5 is second to left of @.
R is second to left of P.
P, is third to left of Q.

| 138.(3) U sits second to the left of V.



140, (1) S sits between U and P.
141.{4)1 Q C P WF
+ 44114
B *x6 # 7 9
Condition (i) Is applicable.
142. (2K A W1 P L
A | 1 ¥
] o9 # &

EM

143. (5) 1

144. (1)1

Mmoo
B o—rx+—m

;%

g
m{—7:§0‘5-1——]u+-m

146. (3) T

w0
* = [1]
L4

=
]
=)
:
&

a

148. (5) #—L 4N
5;191?
11— A

Similarly,

P— x|
9—*L .M
@—ril—ﬂ'{

147. (4)

[Number[Consonant]Consonan{
Such combinations are :

[358).[5¥T) [ovi@} [25%] (7]

148. (2) A—2 x4 ,F

M—2 k2509
22 g " @
s—2 44— ,p

149, (3) | Consonant | Symbo! | Number |
Such combinations are ;

[P0} [Bw7]

150, (1) 17th from the right = N
18th from the lelt = M

NEFIPEBM
(151 - 185) :
Friend | Sex College| Profession
A | Male Y Englneer
B Female P Lawyer
C Female X Doctor
D Female |- 2Z Professor
E Male - 5 Banker -
F |[Male ® w | Stockbr-
oker
G Male v Busine-
Ssman
151.(5) None of the combinations is
correct.
152.(3) B, C and D are ladies in the
group.

183. (2] B.ls a lawyer.

1584. (4) D is a professor.

155. (1) Stockbroker F passed out from
college W.

156. (1) Second figure is the water im-
age of the first figure, right half
part of upper design is deleted
while the left part of lower de-
sign gets shaded.

157. [3) From first figure to second
figure the rightmost design gets
inverted and becomes the outer-
most design, the leftmost design
becomes the second design and
the two designs attached to line
segments move (o opposite side
to become the innermost design.
Again, one of these two designs
gets inverted.

158. (4) From [irst figure to second
figure the square and one line
segment rotate through 135°
clockwise while the other line seg-
ment rotates through 890° anti-
clockwise. The smaller design of
one line segment is replaced with
a new design.

159. (2] From first figure (o second fg-
ure the upper right design moves
to the centre afler rotating through
907 anticlockwise. all other designs
move one step in anticlockwise di-
rection. the upper left design ro-
tates through 135° anticlockwise,
the lower left design rotates
through 20° anticlockwise and the
lower right design rotates through
135° clockwise, Again, a new de-
sign is introduced at the uppe:
left corner.

160. (5) The second figure Is the mir-
ror image of the first figure. The
line segment rotates through 180°
and a line segment is added to the
other design.

161. (3] Relationship markeling

162, (2] Leads provided by operation
staff

183. (3) converting a prospect inlo a
client

164. (2] Service marketing

165. (5] All of these

1686. (5) After-sales service

167. (3) Entire organisation

168. [3) Selling is part of marketing

169, (1) Calling on a prospective cus-
tomer

170. (3} Relation between salesperson

171. (3) Whole organisation

172. (4] selling services

173. (4] a long term insplration

174. (5) All of these

178. (1) Face-to-face marketing

176, (5) All of these

177. (1) an ancient concept

178. (5) All of these

179. (1) Buyer's market

180, [5) All of these

181. (3] Right- clicking an item, usu-
ally displays a list of things you
can do with the item, eg, when
you right—click the recycle bin on
your desktop, windows displays
a menu allowing you to open it,
empty it, delete it or see its prop-
erties.

182, {3) A utility program allows a user
to perform maintainence type
tasks usually related (o manag-
ing a computer, its devices or
its programs. [t makes comput-
er easier 1o use, eg, windows
utility called Disk Defragment-
er locates and eliminates unnec-
essary file ragments and rear-
ranges files and unused disk
space to optimize compuler op-
erations.



183. (2) Dial up Internet service is a
service that allows connecting Lo
the Internet through a standard
telephone line. By connecting the
telephone line Lo the modem in
the computer and inserting the
other end Into the phone jack,
and configuring the computer to
dial a specific number provided
by your [SP. You are able to ac-
cess the internet on your com-
puter. Dial up internet service
is the cheapest internet service.
(1) Traditionally, user connect
Lo a main frame using a terminal
which allowed them to input re-
quest to the mainframe. The
mainframe would then handle all
the computing before outputing
a response, These terminals are
called dumb terminals because
they had no data- processing abil-
ities of their own, they were sim-
ply windows through which us-
ers could access the mainframe.
These days. terminal emulation
sofrware such as 3270 emulation
is used in place of a terminal.
(1) A software bug is a error, flow,
failure or fault in a computer
program or system that produc-
€5 an incorreclt or unexpected
result or causes it to behave in
unintended ways.

(3) Every website has a unique
address to identify it on World
Wide Web. This address is
called as Website address or
uniform resource locator (URL).
Like your home address, URL
also contains different parts.
Domain name in URL is the
unigque address that identifies
the location of the website, eg,
http:// WWW, examples .com.
Here example .com is domain
name: http:// s the protocol
used to access this website and
WWW is a subdomain.

M) The components of a com-
puter can be broadly classified
inte : hardware and software.
Hardware refers to any physi-
cal component that can be seen
or touched, eg. CPU, monitor,
kevboard, etc. Software refers
to the programs which are re-
quired to operate the computer,
eg. system sofware, application
soltware, etc.

(1) The Num lock (or numeric
lock or number lock) key en-
ables and disables the numeric
pad on the keyboard. Tuming the

184.

185,

186.

187,

188.

189

190.

191.

192.

183.

194.

num lock ‘on’ will allow the user
to use the numbers on the key-
pad and turning it ‘off' will en-
able the keys other than func-
tions such as using the keypad
as an armow pad.

(5) A page [or print) preview is a
special mode of modern pro-
grams that provide an accurate
view of what a full printed page
would look like. It enables the
user to view all pages of his/her
document and make suitable
changes, il any, before taking
actual print out,

(1) An arithmetic operation re-
fers to a mathematical operation
involving numbers, There are
four primary arithmetic opera-
tions a computer program can
perform. There are addition,
subtraction, division, multiplica-
tion. They form the basis for
determining the outcome of cal-

_culated numbers. Alfarithmetic

operations are carried out in
Arithmetic Logic unit (ALU) of a
compulter's processor. The logi-
cal comparisons like greater
than, less than, equal to, etc, is
performed by logic unit.

(2] Reusable optical storage will
typically have the acronym RW
{re-writtahle) eg. CD-RW, DVD-
RW, etc. This means reusable
storage mediufh can be re-writ-
ten a dozen oramany times, the
contents canbe copied, deleted
and modifled as necessary.

(4] Data is raw, unorganized facts
that needs to be processed.
Data can be something simple
or seemingly random and use-
less until it is organised. When
data is processed, organised,
structured or presented in a giv-
en context so as to make it use-
ful, it is called information.

[4) A computer network is a
group of computers and other
hardware devices that are linked
together through communication
channels to facilitate communi-
cation and resource sharing
among a wide range of users.
(2) A hyperlink is a graphicora
piece of text in an Internet doc-
ument that can connect user to
another webpage or another por-
tion of a document. A hyper-
link shows up as a single word
or group of words that will usu-
ally be marked as vnderlined
and are frequently blue in color,

185. (2) A menu bar is a hﬂﬂionta:i
bar, typically located at the top
of the browser or application
window below he title bar, con-
taining drop-down menus like
File, Edit, Font, Tools, help that
allow the user to interact with
the content or application in var-
ious ways. In M5-Word, for ex-
ample, "file” menu provides op-
tions to open a file, create a new
one, save it, print, ete. “Edit"
menu allows the user to copy,
paste, find and replace. etc. -
(4} An application software refers
to programs designed to make
users more productive and/or
assist them with personal tasks.
eg, word-processing software,
spreadsheet software, database
software, etc. Application pro-
grams use the services of the
computer's operating system and
other supporting programs.
(2) A control unit of the CPU con-
tains circuitry that uses electri-
cal signals to direct the entire
computer system to carry out
(execute) stored program in-
structions. Logic unit doesn’t
execute program instructions,
rather it directs other parts of
the system to do so. [t performs
the tasks of fetching decoding,
managing execution and then
storing results,

198. (1) The SUM function provides
a quick way to sum columns and
rows of numbers in an Excel
worksheet. The syntax of SUM
function is :
= SUM [Number 1 : Number 2 :
——

Upto 255 numbers can be entered
as arguments for the function.

199.(2] In a graphical user interface,
dragging refers to moving an
icon or other image on a display
screen. To drag an object across
a Jdisplay screen, you select the
object with a mouse butlon and
then move the mouse while
keeping the mouse bution
pressed down.

200. (3) A database is a collection of
information that is organised so
that it can be accessed, man-
aged and updated. Database
are organised in the form of ta-
bles. Database tables consist of
columns and rows. Each col-
umn contains a different type of
attribute and each row corre-
sponds to a single record

o
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